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1.

In right triangle AABC, sin A= % What is

cos A?

NG 1 V3
[A] B3 [B] 5 [C] >
[D] ? [E] none of the above
Given

sin & =% and sec @ <0, find cosé and tan@.

[A] cosé’:—@, tan :_i
7 24/10
[B] COS@:—@, tanf=—>_
7 2+/10
2410 3
C] cosf@=""——, tanf=——
[C] - 710
7
D cos9:—2\/ﬁ, tanf=— ——
] o
Given

sin @ :% and sec@ <0, find cosé and tan@.

V15 1
A] cosf@=——— tanf=———
15 1
B] cosf@=—— tanf=——=
[B] 1 75
4
C cos@z—\/g, tanfd =——

[D] cosé’z—g, tand =

1
J1s

NAME:

Page 1

4. Given

sinf = % and sec# <0, find cosé and tané.

3413 2
A] cos@=——— tanf=———
[A] 11 3413
313 2
B] cosf@=———, tanf=———
[B] 11 3V13
3413 2

C] cosf=——-, tanf=——
[€] 11 313

11
D cos@=—3\/ﬁ,tan¢9:__
] N E

. Given

sind = % and sec @< 0, find cosé and tané.

12
A] cos@=—-4/119, tanf=———
Al A/119
B] cosd=112 tang=—>_
12 J119
[C] cosé’:—l—w, tanezi
12 V119
V119 5
D] cos@=———, tanl=——
D) 12 V119
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6. Given

sin @ =% and sec@ <0, find cosé and tané.

3
A cosH:—Zx/E, tanfd=———
[A] N
[B] cosé’:—ﬁ, tanH:L
3 242
22 1
C] cos@=—— tanf=——
L] 3 242
242 1
D] cos@=——— tanf=——7—
(D] 3 242

7. Given

sin & =% and sec @< 0, find cosé and tané.

3
A 0050:—2\/5, tanfd=———
[A] 2
[B] c0s9=—£, tan0=—L
3 242
[C] cosé’:—ﬁ, tanH:L
3 22
[D] cosﬁzﬂ, tané?:L
3 232

NAME:

8. Given

10.

sin @ =% and sec@ <0, find cosé and tané.

[A] cosé’:—g, tanﬁzﬁ
[B] cos@z—g, tan@z—%
[C] c0s9=§, tan9=%
[D] cos@=—A/15, tanez—%

Given

sin & =% and sec@ <0, find cosé and tan@.

[A] cosé’:—@, tand = %

V10

7
B] cos@=-2+410, tanf=————
Bl 2410

[C] cosé’:—@, tan(9:—i
7 2410
[D] cosé’:@, tané?:i
7 2410

AABC has a right angle at C. Write BC and
AC in terms of sin A or cos A. Then use the
Pythagorean Theorem to show that

(sin A)’ +(cos A)* =1.
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[1] C

2] A

3] A

[4] B

[5] D

[6] D

[7]1 B

[8] B

91 C

BC = AB(sin A) and AC = AB(cos A).
(BC) +(AC)* = (AB)*(sin A)® +(AB)*(cos A)’
= (AB)’[(sin A)* +(cos A)’].
[10] By the Pythagorean Theorem, (BC)® +(AC)* = (AB)’, so (sin A)’ +(cos A)’ =1.




